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%\.\"] ) P.49. Determine Q for equilibrium for the
system shown. The pulleys are frictionless and

have masses W, and W,. The sliding body has
mass W;.
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el the force P; derive an expression for the

P.51. A hydraulic lift platform for loading

— : ’ &
trucks supports a weight # of 5000 N. Only one ’Lj w iw 7 -
side of the system has been shown; the other Slo'::; " ;
side is identical. If the diameter of the piston in oy Z
the cylinder (two) is 40 mm, what pressure p is
needed to support # when 8= 60°. Assume /[
= 240 mm, d = 600 mm, and ¢ = /00 mm.
Neglect friction everywhere.
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?S— 5 P.52. The mechanism shown is acted upon by

magnitude of the force Q required to maintain

equilibrium.
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j e P.53. If members 4B and BC are 4 m long,

y

find the angle € corresponding to equilibrium

for W = 50 kg if the spring constant k is 20 N/m. 2
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P.56. Two bars ABC and CD are attached to a single

spring of constant k which is unstretched when the bars
are vertical. Determine the range of values of P for ——

which the equilibrium of the system is stable in the
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P.57. The spring is unstretched when 4 = Sm " O

30°. At any position of the pendulum, the

7
spring remains horizontal. If the spring Sm
constant is 50 N/m, at what position will the AFED ‘

system be in equilibrium? (-DeF &) P
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6 = 6, find the angle & when the weight W
is places on the system. Use the method of

the minimum potential energy. A,F D
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?~ gal P.59. The horizontal bar 4D is attached to }4 ! >
two springs of constant k and is in A B : € b
T —_o— P
equilibrium  in  the position shown. ( 2 0_0) T g
Determine the range of values of the — 7
magnitude P of the two equal and opposite
horizontal forces P and —P for which the .
equilibrium position is stable (a) if 4B = b l I
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P.60. Determine the angle of inclination of

each linkage in the figure shown. The rollers

move without friction on the support.
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